0916 - DIS 202

Tuesday, September 15, 2020 7:39 PM

1. Find all partials and second partials of f(x, y) = 3xy — x? — y? at the origin.
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2. What is the plane tangent to f(x, y) = x* — 3xy*at (2, 1,2)?
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3. What is the plane tangent to
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@ atx =1,y =1?

@ When is the tangent plane parallel to the x y-plane?
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4. If z(x, y)—x —3xy and x = t2 — w? v—t+w,what1s"’?Whatls"—z>
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5 Iff(x,y) = xy* = x%y, y(x,t) =t +sinx, Whatls -E(X -t,-ts)’)x) - (-Hs"vux)l/ Xz (‘f,'anY)
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6. If we have f(x,y,2), x(v, 1), y(v, 1), z(v, 1), v(u, t), what does the dependencies look like?
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